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16.066 | 1.7 | 8.425 8.2540  9.657 H=4. 673m
16.307 | 033 | 6.339 7.3820 2.436 H=3. 516m
17.765| 1.98| 6.814 6.5765 13.021 H=3. 779m
18924 | 158 | 5.539 6.1765 9.759 H=3. 072m
146 | 5.865 5.7020 8.325 H=3. 253m
KNo. 6 2997 | 343 | 6.767 6.3160 21.664 H=3. 753m
2997 | 000 2.539 4.6530 0.000 H=1. 408m
5065| 1.90 | 3.108 2.8235 5.365 H=1. 724m
15.065 | 11.56 | 5.231 4.1695 48.199 H=2.901m
16.269 | 1.49| 5.391 5.3110 7.913 H=2. 990m

= 87.89 419. 030




<WHEI>

HEE T (m2)
oA R a0 =
EERAA
KNo. 5 + 2.283 0.00 | 0.000 H=0. 000m
+ 6.317 462| 5272 2.6360 12.178 H=2. 924m
+ 7.369 1.39 | 3.768 = 4.5200  6.283 H=2. 090m
+ 10.000 339 | 6.457 5.1125 17.331 H=3. 581m
+ 11416 1.85| 6.916 6.6865 12.370 H=3. 836m
+ 13035 211 | 5.097 6.0065 12.674 H=2. 827m
KNo. 6 505| 7.358 6.2275  31.449 H=4. 081m
+ 1177 096 | 7.740 7.5490  7.247 H=4. 293m
+ 1.622 044 | 4.098 59190  2.604 H=2. 273m
+ 5.065 344 | 4.756 4.4270 15.229 H=2. 638m
+ 5.699 074 | 1.253 3.0045  2.223 H=0. 695m
+ 7.699 1.90 | 1.816 1.5345  2.916 H=1. 007m
+ 8.399 0.70| 0.000 0.9080  0.636 H=0. 000m
= 26.59 123. 140




B BIHEE 25UEMAIET
600
150 300 150
0 E
] 600 (
700
£ m OB KRS g =X BAI| /N BB OB
BISITURKE (& B &£ A
b=0. 3m KNO. 1+19. 569432 ~KNO. 3+14. 872+ m | 20.51
B A Al
KNO. 5+11. 135432 ~KNO. 6+10. 06643 m | 11.49 32.0
(1.0XH Y H=)
avs1)—k | ock=18N/mm2 WrEFEE XY
V = 2.418+2. 067 m3 4.49
B — B WrEFEE XY
A =24.174+20. 682 m2 44. 86
R [Ro-40, t=150mm A=0.700%x32.0 m2 22. 40
B #h#f BEGHE B, t=10m A =5.76/10 m2 0.58




¥ SHEE 2SURAIET
600
150300 _150
0 =
0 600 50
700
& W 3 - B 1 = Bfi| /N & | &
BIFITUR K B&
b=0. 3m
(1.0m&EY#HE)
a9 1)—k | ock=18N/mm2 V =hx0.15%x2+0.15%0.6
= 0. 3h+0. 09 m3
B — R R4 A = (h+0.150) x 4
= 4h+0. 6 m2
EMRA RC-40, t=150mm m2 | 0.700
B ki HE S5 B A5, t=10mm A= 3a29— MKE/10 m2




<25 URAIE>

av9')—km3) B (m2)
A A ik # =
(m) 0. 3h+0. 09 4h+0. 6
W7 1y HeE W7 Ty HE
EERZ
KNo 1 + 19569 000| 0.180 1.800 h=0. 300m
KNo 2 + 3078| 451| 0.180 0.1800  0.812 | 1.800 1.8000  8.118 | h=0.300m
+ 3654| 000| 0.180 1.800 h=0. 300m
+ 7792| 481| 0.180 0.1800  0.866 | 1.800 1.8000  8.658 | h=0.300m
+ 8249 000| 0.180 1.800 h=0. 300m
+ 8373| 284| 0.180  0.1800  0.511 1.800 = 1.8000  5.112 | h=0.300m
KNo 3 + 7239 000| 0.180 1.800 h=0. 300m
+ 8242 127| 0.180 0.1800  0.229 | 1.800 = 1.8000  2.286 | h=0.300m
+ 9026 0.00
+ 14872 7.08
g i 20.51 2.418 24.174




<25 URAIE>

i avy)—km3) BIFE (m2)

A R i:t(En:%)lé 0. 3h+0. 09 4h+0. 6 w =

W E Ty = W E Ty =

B A

KNo. 5 + 11135| 000| 0.180 1.800 h=0. 300m
+  12497| 284| 0180 0.1800 0.511 | 1.800 1.8000 5.112 |h=0.300m
+  12869| 000/ 0 180 1.800 h=0. 300m
KNo. 6 013| 0.180 01800 0.023 | 1.800 1.8000  0.234 |h=0.300m
+  2450| 195| 0180 0.1800 0.351 | 1.800 1.8000  3.510 |h=0.300m
+ a171| o000/ 0180 1.800 h=0. 300m
+  4497| 145| 0180 0.1800 0.261 | 1.800 1.8000  2.610 |h=0.300m
+ 5179|000/ 0180 1.800 h=0. 300m
+  6646| 203| 0180 0.1800 0.365 | 1.800 1.8000  3.654 |h=0.300m
+ 7224|000/ 0180 1.800 h=0. 300m
+  8553| 138| 0180 0.1800 0.248 | 1.800 1.8000  2.484 |h=0.300m
+  9160| 000/ 0180 1.800 h=0. 300m
+  10066| 171| 0180 0.1800 0.308 | 1.800 1.8000  3.078 |h=0.300m

& & 1149 2,067 20. 682
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2 = 5 o =
2 800
1-1
D - e
£ MR 8 |Es g = B[/ B &
Skm & B £ A KNO. 2+3. 07843 ~KNO. 3+8. 24243 | £ 4
B500 x H600 |1& & A 1A KNO. 5+ 12. 497438 ~KNO. 6+8. 5534-F3x| 5
(XL YH=S)
avhY-+ | o ck=18N/mm2 V=08x0.8x0.75-0.5x0.5%0.6
- 0.3%x0.3%x0.15%x2 m3 | 0.303
piAp oAd — g B P2 A=0.8x075%x4+0.5x0.75x%x4
- 0.3x0.3x4- 0.15x0.3x4 m2 | 3.360
E A [RC-40, t=15cm A=0.9x%x09 m2 | 0.810
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600
150 300 150
AV y— k7o H— NO0xX60
@500 43045 (HDZ45) 3 W=600mm t=3. 2mm
\&37_5‘ 7575
% m | iR & |25 g = BEfr|l/ F|E 3
MRERBAIEMR & BR A Al
KNO. 6+16. 418+ m 4.8
B A Al
KNO. 4+12. 4534t3L ~KNO. 5+18. 8784tz m 6.1
KNO. 5+7. 104432 ~KNO. 5+10. 74643 m 1.4 18.3
(1.0 Y#H=)
iRtk  |smERAvx BIEETEZ & Y
HDZ45W=600 W= 18. 3%0. 60%26. 79kg/m2,/1000 t 0.29
avou—t7en— |M10%60
@500 N=18. 3/0. 5%2 V. N 13




% SHEE BhEgM T
B 81 5 ZE #R (H=600)
avy)—FER
A—FL—W
FAI7l b
XIEFEILZ L 2
B S
2.00% o -
1180]
£ W (B #% &£ " Fa B |/ & i
2% (I 5 SE 4 T ’Eﬁ B KNO. 4435 ~KNO. 5+10. 000435 m 31.3
(1% Y % E)
#— F L—JL| H=600mm MAEE (BR), IR 2Iml E100mk i, shiRes: & m 31.30
(CoZ3A)  |gr-C-2B




% Sius T

BRI B € R (H=600)
ThER

A—FL—N
Gr-C-4E

= 1 1

100

600

2100

1400

£ R % B g = BRL | /N A B
PRABIRH &M T |5E 8 22 1A KNO. 2+ 3. 469432 ~KNO. 6+16. 269434 m 87.9
EBRAR KNO. 5+10. 00043z ~KNO. 6+ 9. 6544 m 18.2 | 106. 1
ALY #=)
H— K L—JL| H=600mm M EE (BR), BEIRE 100mLl L, BhigEs: m 106. 10

(HiE5A) |Gr-C-4E




SEtEE FET

158#MELT  A=491m2
AR T

01
) /
(7 st -
\ . ny
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ns

25 8% T A=24. Tm2

1%417:;5:! 29—k

— &)
FRaO)—F
‘ [E3 EBAEES
mmmsomo c%'iizbr'ﬁnﬁ

150150

& | B %S L = Bfr| /N 5t | & F

3R KNO. 2+4. 5343 ~KNO. 8+5. 065435 | m 121.8
(IXZ5Y#HE)

18EEav -+ | —HRER

b [N 121. 8%4. 072=469. 5 m2 | 496.00 | 496.0

oS RC-40, t=150mm m2 496.0




¥ SiuE WET
200
O o
00 =
0 200 50\ Eg#E#  RC-40
300
e m | B8 ¥ |25 = W B/ & F
SEIEHT [E B £ A KNO. 2+ 4. 5344F3a ~KNO. 6+16. 2694HiT| m 88.3
B %A A KNO. 5+10. 0004F 3 ~KNO. 6+ 9. 65443 | m 18.4 |1 106.7
AXBY#HE)
avs1)—+ [ ock=18N/mm2 V =0.060x106.7 m3 6. 40
LAy A3 — AR E A =0.600x106.7 m2 64. 02
EHBEERA [RC-40, t=150mm A =0.300x106. 7 m2 32.01
Bih#f [|essumsws com A =6.47/10 m2 0. 65
(ImH Y H=)
avs1)—+ [ ock=18N/mm2 V =0.200x0.300 m3 | 0.060
LAy A3 — AR E A=0.300x2 m2 | 0.600
EHBEERA  [RC-40, t=150mm m2 | 0.300
Bt |eesemsws com A =0.060/10 m2 | 0.006




